&%y 7hx o @47t obd 2L

® A% x 9 %
@ A5 x o v

® ZAAa x B 22 2590 Ay



g fx) = 2 +1,g(x) = R off thste] 2£(10) - 3g(5) < k=

) by
Fatolet.

> L
=%






Al A AGB, 2). B4, k). C(L,

s

4.

©9

@ 2 ® 3 @ 4 ® 5

D1



il

0
N

cm



f(x) =3+ x—a+ax A f(-2) =7 <L, f(b) =10
i, a + b 2] g2 okt



Ay =20-57H A (1, 1) & A}ES B

7.



A0 A A 7x + 4y = 21 Yo] g A HHEI}x, y
2 Ro=o=2nil gt o] HO R E g A2
@® (11,-11) @ (-11,11) ® (9,-9)

@ (-9,9) ® (7,-7)



O

9. A% 2 A LA x4 ky =7 ]
e AP o) Yehi ok 19
3} ek, ojuf, A4 k o] 7 Fatolat,

’

3
@® -2 @_5

@ 1

W ool w

)
®




10.

3x+y=k

ot} k 9

® 4

@ 1

-2

-5

® -8



11.

93} 2ol 71z Zol7} 30em , Azl 2

°17} 20em ¢l AAF2kg ABCD 7} 9lek. & P
7FCE S5l iz 2cm 2] £ 0= BC
g webd B7HK] 21Tk 5H, AABP ]
Wol7} 100em2 7} He AL A prt A o2
UL A E 2§70

©s5x % @623
@ 10xF ® 122 %

A ---30cm- _
/
!
20cm|
‘\
p
® 8z %




< o
=N
~ or
Hl <
=
a\'/
1+ﬂﬂ.
o & —
o o
I V_AMT
CbAo
+ Mo
2P
_dl,a,
ST o
<o T
7o N )
™ T OH|
= o &
oM T M
N




13.

y=3x+a,y=-2x+b 2 I}Z7} (-2, 1) oA Thtc},

ey = Zx=3(a+b) O x WS Ffolet,
a



14.

ARy =ax+ b= A (5, 3)= AH

o, £(=2) 4+ £(7) 2] 722

@ 3 @ 4



15.

Ady=ax+b9 1

® y=3x+4
1
@ y:§x—3



